D"'NNINI'IND AN - 'T NA0)

: NI NN

DMaN ¥ 'n'n NN %3 nnan TINk XY wr 1,10 q'wo bun? 0'a'won 712
: NDAIT 707 ,]72p0 Nuxn 012 15% 1122 NIfNON AN [FINY TINRNN ANNan TINK 12'0 [22p0 MY X721 IwR aninn 1ink 1.10 q'voa
: 12'N VNN 112V AT 9'U07 VA VAP TINRNY "D DTAR 1a2NnY Yainn Nifnan ania 1.10 9'wo %V naoil nnin 2% V' yIxnw Nl
15% - 2% = 13%
¢ Y¥ WTIN ININ2 NA0IN |727 Van %"13n NNNINNDA NITIAVA 22 112vw Nn, 100,000 YV TRV YINN INIX W 'WTINN 2NN 2 N TIV @
100,000*%13% = 13,000 ri
T P9 NPAON? NIWN |72 DY IWHINAY 'Y ,INWA IR 2T 18 'R MY 1272 nwa? N1 T p1a p1+ TR DA 221 0T nNNwan

NaIPN 22 12V TARN? NININN NN INKRY D90 22 112V D"'910N DI'NAN 1202 (AVXNN 217pwn 50%) NiNan 2'271N2 NIt V'XNn NN XY
Pwnin RN NX 22PN INIM 221TD NYXND TWNI TIONN

12200 LI9NAI TIANN 12NN DIIANI TI91A 'T P19 1AV T a1 '2,'N DP9 AV DITA 12 X927 NIATA NN INXUY NIY TANNN

L1IpPn RINl 20N LI9N] NV'AIN N0 NANMA ,NMYNN NAW1 DIYIN 110N 12'a NI'Ndn Ana



(23909 VY912 VI9NII) 34”7 - 27 BYIVPA 179 B S /N P9

qQ'won
mERaYA) = 09N TN [ BN TN - DNYN NN 0 1 MPNNI NPOON - NTAYN WD
—_— b2 b - N 99
Yopvn ﬁ% Y NI | VIV b::;:”: ':N';” 7Y NIMD? ﬁ mns NPXADN) PN 1990H NVIVA Y1 %’3
Y | | wenn [(-3A10)) e wspn | T (VP02 NN NTTHIN - 1
6 120 120 80000 Q3=15vr0mIN 733 1.1
6 120 120 10000 Q3=25vr0mnM™M "3 1.2
6 120 120 500 Q3=4vromIMm 733 1.3
M>yn 50-90) DN DY 17 DN TN 3
6 450 450 500 Q3 = 2.5 (DPOOY Ya 14
3 185 185 5000 Q3=63v 0NN "1 1.5
2 185 185 250 Q3=10v0MmMIN 71 1.6
mM>yn 50-90) D3N DI 17 DM TN .
1
3 940 940 100 Q3 = 5 (OPObY 17
300 300 7500 Q3 =16 10NN "1 1.8
550 550 4000 Q3=25vomIN 27 1.9
D>VPA ¥ DTN NANN NTIAYA
,0°192 1D DXNAD N1 2-3/4
, M9 , 012NN , MNYP , 009
’ M b
) ) 15% 15% 1 NIV DAWN AN NN, DTN, 0, s,

DV TO2 7NAVN 53 DY MOMOPN
15232 NPNIYN NMINX DIION 15%
VNAND JIN .NT PYDY YNNN NNIN
50N VIMNA

1.10




(235VN VY9N VIVNI) 2”7 - 6”7 BIHVPA 7DD 1IVIN VIDIVM B 39 :’a PID

q'won
mbdaY) = 99N TN [ BN TN = 9NN NN D 1 NMIPNNI NPAON - NNAYN WD
—_— b2 b - N 9
Yown ﬁ% MY NI | VITIVD b::;:”: ':Nr;n 7Y NS ﬁ mMns NPXADN) PN 190D NVIVA WIN | VYD
) === Y8109 (223v) — I8N === (WA NYN TN 2
2 1750 1750 200 Q3 =40 )1VoN DM N 27 2.1
2 3000 3000 1800 Q3 =100 y2V5oN O N 37 2.2
2 3500 3500 530 Q3 =160 Y2051 O TN 97 2.3
2 4500 4500 50 Q3 =400 Y2051 DM TN 6” 2.4
V993 VNONI) 27 = 67 BIIVPA NN MWL INPVHN VIVV T 9 /) PI9
(0/vn
q'won
miay) = 09N TN [ DN TN = DNIN NN D 99 NIPNN NPOON - NNAYN WD
—_ » b - N 9
YoPIUN ﬁ% MY NS | V1LV D _._b:z;v:): :N';” 373 NS —’:n ;:”: mns NPPODN) PN 19900 NVIVA VTN | AVIp
oy | | wunn (Enw) | = | papa | T (VPP NN NTTIN 3
2 1750 1750 2000 Q3 =35 MVoN oM M 27 3.1
2 3000 3000 900 Q3 =63 1VON DM N 37 3.2
2 3500 3500 270 Q3 =100 Y2051 DM TN 497 3.3
2 5500 5500 10 Q3 =250 205N DM TN 6” 3.4




(2350 VY91R3 VNAN) R>=500 -~ 1/2” - 6” NN R P27 5119 59¥3 0 1 /1 P9

Q'yon
2nn = 09N TN [ D0 TN = NN HNN 0 19 MPNN NPAUN - NNAYH WD
YW BPN TR 5, Nb‘:m m‘w;[ov 22PN 1N vy Ny | —-LDR mns np’svn)' PN 1”1‘1\::1 nvXwaAYIN | 0P
Ny 22 wsnn (92vY) A0 N wsnn 2200pR (VPR NPN NTTN 4
6 459 459 1500 Q3=15onm| 12| 41
6 421.5 421.5 1500 Q3>=25onTm| ”3/4| 42
3 550 550 500 Q3=6300M 71l 43
2 2180 2180 100 Q3=10 oMM 71 4.4
2 3136 3136 100 Q3=16 DN TN "Bl 45
2 3918.72 3918.72 100 Q3=40n TN 72l 46
2 5057.28 5057.28 800 Q3=63 DN 73| 47
2 6582.4 6582.4 250 Q3 =100 omn TN 74| 4.8
2 6582.4 6582.4 15 Q3 =250 om TN 76| 4.9




0%

N PI9Y MYy 19

0%

3 ‘9999 MYy 19

0%

’) PI9Y MYy 19

0%

4 PH9Y MY 10

0%

WSNN NYSH 10
)=’ /N DYDY

0%

WNNN NYSH T
4393 74 pHaY

0%

99 YI8NN NYSN 19

9910 2P




